b
i i

5
L 7

\|

11045830
BEAER]

14. MR FHRVERH AB MEMAERE - Hof 40%Z A BEE - 60%Z B gHE - B
XA BHIENE 0% RALIEE FERBBE—F - B KRNELE 75%HIHET B
EHEHABE—F BEREFALGENFREEHNECEEERBR—F  AERF

BT SR A R o c (B BB 5

©

®

1588 a>1 BHIZEO0<x<2H0F > y=ax2_3”38’{!g'a'§lj\{g2%% » Bl a = @L__ (b B

g ‘)

S

16. fEALFEFHE L - (F4 G =85 4,8,C H 4,B1E C BEIEMH > B LA C BELL - F &K rivHE
THie (HEFM) CAxCB=r" > AIBABERHETH R HE - BT A
X4y =2x+6y+2=0 > AIEE AQ-2) HETHREE BIAER ( (s) , (D)

17.3% 4,8,C,D %220 P IE DU F ARV DUE B SS - 5% — B E 8285 D 4y B {E AABC Ffife F R

_— —_—

Wl B (ABRE) AE- AB=AE-AC=0 - }l cos ZDAE =
)

%;@_ o (b B R R

IIOIOU

- 11053

mom -

\
/

W
<X o

BB AR |
FRHY - RAENIFEEE (5 154)

WEA D RIS EA | Ml B FHEEIENER  RERTEABRELSENESL - B4
TR RMERNY , EA 2B S EHS 0 RIER ) BUREEERX &R
BER (%) - FEBBRFHAMERXETE  ERFLATHE G EBERES >
HZRIEE) Ty -

18-20 7 Ky H 4

-b
LXTE‘%EE[Z a}ﬁ%%ﬁﬂ@%ﬁﬁ%?ﬁ D Hdia bR - SUES FHIRTE -

18. %T%%}(O,I)Hﬂ%%ﬁﬂgﬁy=5x+l3 E—% - AT I —EEE R ? (BHEE 3
)
(1) a-5b=13
(2) a+5b=13
(3) 5a-b=13
(4) 5a+b=13
(5) —Sa+b=13

19 ETHERy=x+1 LHAVREBHEER y=5x+13 £ > HKa - b - (FEEFE > 6 77)

20. (K 1978) PO RVHEHEMHEER S P'=TP) ~ Q'=T(Q) ° %ﬁ%ﬁﬂﬁ%%ﬁﬁ ’

WK EEE - (FREEERE > 6 77)




